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15 5008 2 M0, T0, =
1500 " x5 56 =
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100 % 5,56 =
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Wwohnen +issen 8,50 ® 3,70 '= 31,45 m2
] " 2,00 x 0,86 = 1,68 m°. = 34,84 m°
& o 3,06 x 0,56 = 171 m2
Kiiche 3,06 x 2,40 = 7,34 m° - 7,34 m°
Iltern 150 %5556 =4 16502 o 5
" 390 x 1,20 = 4,68 m° Rl A
P 400 %=5,56 = 14,60 mi MO
n 5.50 x 1,20 = ' 4,20 m =, 18,
3ad 2,40 x 2,64 = 6,33 n° = 6,33 m
: Diele + . 0,94 x 0,94 = 0,88 m°
Gard. v 2,84 m 2590 o=y B352 m2
3 " . 1,10 x 1,10 = 1,21 w° .
- " : 0,24 x 1,00 = ‘ @yen m2 = 10,09 m
abziiglich . 1,20 x 0,40 = 0,48 m°
TR 2. 0,86 050 =, 0,28 0
s Balkon ¢ 10,70 x. 1,90 " _ 5,08 m2 _ 5,08 m2
; ‘
\ 103,18 m°
C sumevs 103,18 0% x 0,97 =_100,08 uZ__sohnfliche __Zugang_
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